[ A-1077G

i

CONSTRUCT ION
MAIN CONTACTS

REVISIONS RELEASED | 8-27-81
REV DESCRIPTION DATE APPROVED
F {21708 | REDRAWN, ADDED °*SILASTIC SEALED" 10 CONSTRUCTION [92/01/10] KM
G 31185 |FIND NO 10 ABDED 96/10/14] RS
K {0685-04 | FIND NO 3 WAS 416¢5-001; REMOVED F1xD 10 04/08-30) 15

GASKET SEALED, SI

LASTIC SEALED

Oneyac.com

CONF | GURAT I ON SPST N.O.
VOLTAGE (INOM.) 28 vDC
- CURRENT RES. 200 AMP
- INRUSH 800 AMP
(]
COIL DATA
MAX QPERATE 32 vDC
MIN OPERATE 24 VvDC
PICKUP AT 250 16.5 V MAX.
DROPOUT 1 TO 7 VvDC
RES AT 250 70 OHM + 20= X1 O———m —{) X2
DUTY CYCLE CONT I1NUQUS
ENV IRONMENTAL DATA
AMBIENT TEMP -55°C TQ + 71°C
| 875 LIFE ELECTRICAL 50,000 CYCLES MIN
: LIFE MECHANICAL 100,000 CYCLES MIN
e 2 25 MAX . WEICGHT MAX mmm,: 1 LB 8 07
eee 1/4-28 UNF-2A 6~32 UNC-2A
2 STUDS 2 STUDS NOTE -
THIS UNIT MEETS THE MATER!ALS AND WORKMANSHIP
REQUIREMENTS OF MIL-R-6106
B
10
m 9 2 51807034 WASHER-LOCK-No. 1/4 SPLIT BRONZE
o 8 | 2 51806-014 WASHER-LOCK-No.6 SPL 171 BRONZE
Y _ m 7 | 2 51703-064 WASHER-FLAT-1/2 X 17/64 X.032 BRASS
. L 5 | 4 51200-020 SCREW-No.4 X 174 PAN HD., STAINLESS STEEL
. VA VA . 5 | 2 50407-364 NUT-1/4-28 X 7/16 X 3/16 HEX BRASS
> o 8 4 2 50406-034 NUT-6-32 X 1/4 X 5/64 HEX BRASS
= X 3 | ¢ 47618-007 PLATE-NAME
< 2 |2 342790-001 PLATE - COVER
> ho T ]t 32659-060 CONTACTOR ASSEMBLY - PRI,
n./m Mengg. FINO | QTY PART OR NOMENCLATURE OR FSCM PRAWING CR MATERI AL
AN r}/@ MO | REQD IDENY IFYENG NG DESCRIPT ION [t} SPECIF ICATION OR NOTE
N LED Elecironics
..l.. 2] IDﬂﬂ:uDJ?_o.iu”o:._qm N, GIASOND STREET  WANSTLELD. OHID 44302
SR
CHK BY 10/ _
| - R TR TATTAL CONTACTOR S.P.S.T. N.O,
@.\ IS SRS PN T 0 6710730 200 AMP, 28 VDC
DIDGIORS AR IR DEHES
; 5 : T0LERRCES 0N SIZE | CODE IDENT o ERE G
1 L+ o C 174063 - A-1077G
2 PL DEC.)3 PL DECOANGLES
+ .06 |+ 0161 = I* [SCALE i1/1 | SHEET REF TYCO P/N 0-1616055-5



https://www.oneyac.com

B NE AR EN, AT, SRR A ISR E B

Downloaded From | Oneyac.com


https://www.oneyac.com/brand/1062.html
https://www.oneyac.com

	>>TE Connectivity(泰科)

